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7 100kN/mi#E# 2 % — -~ = —[3mEBRB| — ~ — — — | 100kN/mM%#82.% — - ~ — — |3m%i#BZ % -~ — — —
ThList 1.00 | 0.00 ~ 4.34 54.21 | =hLs | 000 ~ 434 1.98 10.67 Thst 1.00 | 6.00 ~ 5.00 54.21 | TnS | 500 ~ 56.00 | 1.98 10.67
2 100kN/mi#E# 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/mM%#8%.% — - ~ — — |3m%i#BZ % -~ — — —
ThList 1.00 | 0.00 ~ 5.62 70.23 | ThSY | 000 ~ 0.00| 1.61 8.63 Thst 1.00 | 6.00 ~ 6.50 70.23 | =nRS | 6.00 ~ 650 1.61 8.63
3 100kN/mi#E# 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m%i#BZ % -~ — — —
ThList 1.00 | 0.00 ~ 7.34 93.61 | =hLs | 000 ~ 0.00) 1.66 8.88 Thst 1.00 | 6.00 ~ 9.80 93.61 | TSt | 5,00 ~ 9.80 | 1.66 8.88
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 015 10224 |3ImEBRB| — ~ — — — | 100kN/Mi%#25% | 1.00 | 1054 ~ 1095 10224 |3mZE#BZ5 -~ — — —
Thist 1.00 | 015 ~ 7.94 100.00 | =nst | ooo ~ 794|216 11.67 Thst 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 1095)] 2.16 11.67
5 100kN/mi#E# 2 % — -~ = —[3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m%i#BZ % -~ — — —
ThList 1.00 | 0.00 ~ 716 91.00 | =hd4 | 000 ~ 716 1.81 9.69 Thst 1.00 | .00 ~ 9.10 91.00 | =nhst | 5.00 ~ 9.10| 1.81 9.69
P 100kN/mi#E# 2 % — -~ = —[3mEBRB| — ~ — — — | 100kN/mM%#8%.% — - ~ — — |3m%i#BZ % -~ — — —
ThLst 1.00 | 0.00 ~ 6.16 77.37 | RS | 000 ~ 0.00| 1.65 8.83 Thst 1.00 | 6.00 ~ 7.30 77.87 | RS | 6.00 ~ 730 1.65 8.83
100kN/mi%E# 2 % ~ IMERBZD ~ 100kN/mM%E#BZ 5 ~ ImERBZD ~
ZnList ~ ZhLst ~ ZhLst ~ s ~
100kN/mi#E# 2 % ~ IMERBZD ~ 100kN/mM%E#BZ 5 ~ ImERBZD ~
ZnList ~ ZhLst ~ ZhLst ~ s ~
100kN/mi#E# 2 % ~ IMERBZD ~ 100kN/mM%E#8 25 ~ ImERBZD ~
ZnList ~ ZhLs ~ ZhLst ~ st ~
100kN/mi#E# 2 % ~ IMERBZD ~ 100kN/mM%E#B 25 ~ ImERBZD ~
ZnList ~ ZhLs ~ ZhLst ~ s ~
100kN/mi#E# 2 % ~ ImERBZD ~ 100kN/mM%E#B 25 ~ ImERBZD ~
ZhnList ~ ZhLs ~ ZhLs ~ s ~
100kN/mi#E# 2 % ~ ImEBZD ~ 100kN/mM%E#BZ 5 ~ ImERBZD ~
ZhnList ~ ZhLst ~ ZhLst ~ s ~
100kN/mi#E# 2 % ~ IMEBZD ~ 100kN/mM%E#B 25 ~ ImERBZD ~
ZhnList ~ ZhLs ~ ZhLst ~ s ~
100kN/mi#E# 2 % ~ ImERBZD ~ 100kN/mM%E#8Z 5 ~ ImERBZD ~
ZhnList ~ ZhLst ~ ZhLst ~ st ~
100kN/mi#E# 2 % ~ IMEBZD ~ 100kN/mM%E#B 25 ~ ImERBZD ~
ZnList ~ ZhLs ~ ZhLs ~ ZnLst ~




